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GAT Subject Mathematics Analytical

Questions

Choose the answer you think is most appropriate among the given options.Six scientists A, B,
C, D, E, and F are to present a paper each at a one-day conference, Three of them will
present their papers in the morning session before the lunch break whereas the other three
will be presented in the afternoon session. The lectures have to be scheduled in such a way
that they comply with the following restrictions:B's should present his paper immediately
before C's presentation; their presentations cannot be separated by the lunch break.D must
be either the first or the last scientist to present his paper.46. B could be placed for any of
the following places in the order of presenters EXCEPT

Choose the answer you think is most appropriate among the given options.Six scientists A, B,
C, D, E, and F are to present a paper each at a one-day conference, Three of them will
present their papers in the morning session before the lunch break whereas the other three
will be presented in the afternoon session. The lectures have to be scheduled in such a way
that they comply with the following restrictions:B's should present his paper immediately
before C's presentation; their presentations cannot be separated by the lunch break.D must
be either the first or the last scientist to present his paper.45. In case C is to be the fifth
scientist to present his paper, then B must be.

Choose the answer you think is most appropriate among the given options.A bus has exactly
six stops on its route. The bus first stops at stop one and then at stops two, three, four, five,
and six respectively. After the bus leaves stop six, the bus turns and returns to stop one and
repeats the cycle. The stops are at six buildings that are in alphabetical order L, M, N, O, P,
and Q.P is the third stop. M s the sixth stop. The stop O is the stop immediately before Q. N
is the stop immediately before L.44. In case a passenger gets on the bus at O, rides past
one of the stops, and gets off at P, which of the following must be true?

Choose the answer you think is most appropriate among the given options.A bus has exactly
six stops on its route. The bus first stops at stop one and then at stops two, three, four, five,
and six respectively. After the bus leaves stop six, the bus turns and returns to stop one and
repeats the cycle. The stops are at six buildings that are in alphabetical order L, M, N, O, P,
and Q.P is the third stop. M is the sixth stop. The stop O is the stop immediately before Q. N
is the stop immediately before L.43. In case L is the second stop, which among the following
must be the stop immediately before M?

Choose the answer you think is most appropriate among the given options. A bus has exactly
six stops on its route. The bus first stops at stop one and then at stops two, three, four, five,
and six respectively. After the bus leaves stop six, the bus turns and returns to stop one and
repeats the cycle. The stops are at six buildings that are in alphabetical order L, M, N, O, P,
and Q.P is the third stop. M s the sixth stop. The stop O is the stop immediately before Q. N
is the stop immediately before L.42. In case Nis the fourth stop, which among the following
must be the stop immediately before P?

Choose the answer you think is most appropriate among the given options. Multan Institute
of Higher Studies planes to show five educational films A, B, C, D. and E to a group of
students. The film shows are planned in an order. which conforms to the following
conditions:A must shown earlier than C.B must shown earlier than D.E should be the fifth film
shown.41. In case exactly one film is shown between A and C. and exactly one film is shown
between B and D. which among the following will hold true?

Choose the answer you think is most appropriate among the given options.Multan Institute of
Higher Studies planes to show five educational films A, B, C, D. and E to a group of students.
The film shows are planned in an order. which conforms to the following conditions:A must
shown earlier than C.B must shown earlier than D.E should be the fifth film shown.40. In case
B, D and E are to be shown one after the order in the given order. the two positions from first
to fifth in which A could possibly be shown are

Choose the answer you think is most appropriate among the given options. Multan Institute
of Higher Studies planes to show five educational films A, B, C, D. and E to a group of
students. The film shows are planned in an order. which conforms to the following
conditions:A must shown earlier than C.B must shown earlier than D.E should be the fifth film
shown.39. In case D and E are shown as far apart from each other as possible which among
the following would be true?

Choose the answer you think is most appropriate among the given options.Multan Institute of
Higher Studies planes to show five educational films A, B, C, D. and E to a group of students.
The film shows are planned in an order. which conforms to the following conditions:A must
shown earlier than C.B must shown earlier than D.E should be the fifth film shown.38. Which
among the following is a pair of films that CANNOT both be shown earlier than E?

Choose the answer you think is most appropriate among the given options.Multan Institute of
Higher Studies planes to show five educational fiims A, B, C, D. and E to a group of students.
The film shows are planned in an order. which conforms to the following conditions:A must
shown earlier than C.B must shown earlier than D.E should be the fifth film shown.37. Which
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. Q is stop three.
. P is stop four.

. Nis stop five.

. L is stop six.

oowr moow

owrz

moow»
Irzoo0

. C is the film shown between B and
. E is the film shown between A and

. D is the last film shown.
. E is the first film shown.
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. First and second.

. Second and third.
. Third and fifth.
. Fourth and fifth.
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A. A is shown earlier than B
B. B is shown earlier than C
C. C is shown earlier than E
D. D is shown earlier than A
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among the 1ollowing Is an acceptable order tor showmng the educational 1ims’?

Choose the answer you think is most appropriate among the given options. Multan Institute
of Higher Studies planes to show five educational films A, B, C, D. and E to a group of
students. The film shows are planned in an order. which conforms to the following
conditions:A must shown earlier than C.B must shown earlier than D.E should be the fifth film
shown.36. In case D is to be shown earlier than A Then for which of the following is exactly
the one position from first through fifth in which it can be scheduled to be shown?

Choose the answer you think is most appropriate among the given options.Multan Institute of
Higher Studies planes to show five educational fiims A, B, C, D. and E to a group of students.
The film shows are planned in an order. which conforms to the following conditions:A must
shown earlier than C.B must shown earlier than D.E should be the fifth film shown.35. In case
C is shown earlier than E Which among the following will hold true?

Choose the answer you think is most appropriate among the given options.On a factory
control room. there are three ON-OFF switches on central control panel, labeled A, B, and C,
They are changed from setting to a required setting based on the following rules:In case only
switch A is ON in the default setting, then turn switch B ON.In case switches A and B are the
only switches On in the default setting, then turn the switch C ON. In case all the three
switches are ON in default setting then turn the switch C OFF. For any other default setting,
turn ON all switches that are OFF all switches, if any that are ON.34. Which of the following
default settings leads to a second setting, where only one switch is OFF?

Choose the answer you think is most appropriate among the given options.On a factory
control room. there are three ON-OFF switches on central control panel, labeled A, B, and C,
They are changed from setting to a required setting based on the following rules:In case only
switch A is ON in the default setting, then turn switch B ON.In case switches A and B are the
only switches On in the default setting, then turn the switch C ON. In case all the three
switches are ON in default setting then turn the switch C OFF. For any other default setting,
turn ON all switches that are OFF all switches, if any that are ON.33. In case only switch B is
ON in the second setting, Which of the following could have been the default setting?

Choose the answer you think is most appropriate among the given options.On a factory
control room. there are three ON-OFF switches on central control panel, labeled A, B, and C,
They are changed from setting to a required setting based on the following rules:In case only
switch A is ON in the default setting, then turn switch B ON.In case switches A and B are the
only switches On in the default setting, then turn the switch C ON. In case all the three
switches are ON in default setting then turn the switch C OFF. For any other default setting,
turn ON all switches that are OFF all switches, if any that are ON.32. In case switch A is OFF
in the second setting. Which of the following could have been the default setting?
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. Ais the second film shown.
. B is the second film shown.
. Cis the third film shown.
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. E is the fourth film shown.

.AON, BON, COFF.
. AON, B OFF, C ON.
.AOFF, BON, C ON.
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. AOFF, B OFF, C OFF.

.AON, BON, CON.

.AOFF, BON, C OFF.
. AOFF, BOFF, CON.
. AOFF, B OFF, C OFF.
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.AON, BON, CON.
.AON, BON, COFF.

.AON, B OFF, C OFF.
. AOFF, BON, C OFF.
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